9 Joooooboboooobbod

Ub0000Java0 000000000 OOCODOOOOOOCOODOOOOOCOOOODOODOOOOOO
oboooooobooo

9.1 UUdgooooo

uboobooboo bobooooobobooooboboobOoobooooobobooboooooooo
oboooooooobooo

001100000000 000BMIO0O0O000DO0O0O0O0C0O000000000O0O0O00O00O0OO0
gooosMIiOgoooboOOooooOoobbooooooboooooobooobooobooooooboboon
gbooooboobooboboooooboboob sgoboooobooooooboooon

e JO0ODOODOOOOODOODOODOOODOO
e BMIOUIDOODOOOOOOODOO
e BMIOIDODOOOOOOODOOOOODOODOO

gboboomoooboobooooboboooooboobooboboobn JavadOOOoooOoOooQ
gboooobobobooboomooobooboooooobooooooooobobooon
ogboobooobooboobooboooooboboboooboboobooobooboooboooooboobon
BMIODOOO0O0O00O0DOO0O0O0000000 BMIOOOOO0OO000O0bO0ob0oooooooooboona
JavaQOOOOOODOOOOOOOOOOOOOODOOOOOOO0ODOOOO0O0OO00bO0O0
obooooobobooooobOobmooooboobooooboooooobOmuoobooooboooboon
oboooooooobooo
gbb00dJavalOO0OO0OO0OO0OO0OO0ODOOOOODOOODOOOOOOOOOODOOODOODOOOOOOO
gbobooooooooboboooboobooobooboobooooooobooobooobooooonoo
obobooooooooooboobooooooooon

goooo

obobo0ooobOoboooobooboboosMIODOOODOOOOOOODOOOOOOOBMIOOOO
gboooomobooboooooobooooboobobooooboboooooboobbooboobooon
gboobooboboooooboboooooboboooon

oboboooooboboooooboooosMIODOOoOooOOooOoOn
gbooooooosMIOOOOBMIODOOOOO

obooooboooooboooooooobooobooobobooboboooobooobboooooooboooboon
gboboooooboobooooobobooooooboOoboooooo

JavalOOOOOOOOOOOOOOOOOOOOOODOOOOOOOO0O0O0OOO0O0O0OOODOO
gbobooobooboooboobooobooooboooboobooooboooobooboooboooobooon
obooooooboooooboobonO ooobo oboooo

7.4000 public O private 0000000000000 O0DOO0O0O0OOOOCOOOOOOOOO
gboboooboooboboooboobooobooooboooobooooooooooooboooboobooon
obooooooooooboobooooog

39



9.2 000000 extends
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U0000000b00b000Javad 000 extends UOO0O0OO0O0O00O0O0OOOOCODO

Ubob00o0bO0boo0nf parent DOOOO0OOO0OOODOOOOOOOO

public class Parent {
public void calcSquare(double a) {
double square = a * a;

System.out.println("Square=" + square);

uboooobooboboobobo child JOO0O0OO0OO0OO0O0O00000d0

public class Child extends Parent {
public void calcCube(double a) {
double cube = a * a * a;

System.out.println("Cube=" + cube);

000 public class Child OO0 O OOOextends ParentD 000000000000 0OOChi1dO
O000Parent 0000000000000 Parent00000000O0O000O0DDOOOD Parent
o00o00o00obOo0o0ooobDo0ooOoo0ooo0obO000Dcehila DOO0O0O Parent ODOODO
0000000 calcsquare JO0DO0O0OO00OD0ODOOODOOOOO

00 childO0O00000O0main 00000000 O0O0O0OOOODO

public class UseChild {
public static void main(String[] args) {
double a = 3.0;
Child child = new Child();
child.calcSquare(a);
child.calcCube(a);

O0min000000O0ChildOOOOODO childOOOODO calcSquared OO0 calcCube OO OO
O00000OcaleSquare0 O 0Parent U0 0000000000 ChIIdOODOOOOOOODOODOOO
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public class Parent {
public void print() {
System.out.println("I am the Parent.");

ob0o00ooooboobOobo child DOOO0OO0OOO0OOOO0OOO00O0

public class Child extends Parent {
public void print() {
System.out.println("I am the Child");
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public class Parent {

public final void print() {
System.out.println("I am the Parent.");
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public abstract class Parent {

public abstract void print() {

}
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9.4 000000 interface ] implements
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public interface Parent {

public void print();

public void calcSquare(double a);

ob000o0obO0o0obObo0o0boO0o0o010ob00o00ob00bOdpublic class DOOOOO0O0OO0O0DOO
0000000000000 0000D0O0D000 class OO0OOOOOOODO interface 000000
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public class MyParent implements Parent {
public void print() {
System.out.println("I calculate Square.");
}
public void calcSquare(double a) {
double square = a * a;

System.out.println("Square=" + square);
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public interface Uranaishi {

// 200000000000000000O0CO0O0OODO
public int calculateChemistry(int monthl, int dayl, int month2, int day2);

do0oo00oOOooOOooooDOoooOobO0bO2000000000000000000DO0DO0DOOO00
oo0Doooboooooooag

00 AliceJOUO0O0O0O0OOOONO Uranaishi O OO OOOOOOUranaishiAlice OO OOONO
0000000000000 b00O0O0 implements UranaishiDOOOOOOOO0OO0OO0OOOOOOOO
0000000 Uranaishi 000000000000 O0OOOOOOOODOOODOOO0O

0000000000 0OOUranaishiAlice.java DO O0OD0O0O00OOD0OODOOOOODO

public class UranaishiAlice implements Uranaishi {

// 0000000000000
int calculateTotalDays(int monthl, int dayl) {
int total = 0;
int days[] = {31, 28, 31, 30, 31, 30, 31, 31, 30, 31, 30, 31};

// 000000000000 00000ad
for(int i = 0; i < (monthl - 1); i++) {
total += days[il;

// 000000000
total += dayl;

// 0000000

return total;

// 20000000000o00O1000000000O0O0DCOOO
public int calculateChemistry(int monthl, int dayl, int month2, int day2) {

int chemistry = 0;

// 00 A0000000DOCO0O0O0DODO0O0DO
int totall = calculateTotalDays(monthl, dayl);
// 00BOO0O0OOOODOOOOODODOOODOO
int total2 = calculateTotalDays(month2, day?2);

// 000000 O000b0o0o0oo0obo0ooooooobooooonon
chemistry = (totall + total2) % 101;
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// 00000

return chemistry;

000000 BebOOOOOOOODODOO Uranaishi OO OOOODOOODOUranaishiBob OO OO0
obooboooooooo

Ub0000D000000OvuranaishiBob.java DO OOOO0OO0OO0O0O0O0OOO0O

public class UranaishiBob implements Uranaishi {

// 20000000000o00O10000000000DO0OO

public int calculateChemistry(int monthl, int dayl, int month2, int day2) {

int chemistry = 0;

// 00 A0000000
int totall = monthl + dayl;
// 00BOODOOOOO
int total2 = month2 + day2;

// 000000 O000000o0o0oo0o0o0oooooooooooood
chemistry = (totall + total2) * 100000 % 101;

// 00000

return chemistry;

0000000000000 Uranai.java O UranaiMulti.java OOO000000000000OC
oooooooo

import java.io.x;

public class UranaiMulti {

// 0000000
public static void main(String[] args) {

// 20000000000000000
int monthl = 0, month2 = 0, dayl = 0, day2 = O;

// 00000000000000

int chemistry = 0;
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// 00A0000D000BOODOOOOODOOOODOO

try {
InputStreamReader isr = new InputStreamReader (System.in);
BufferedReader br = new BufferedReader(isr);
System.out.println("Month of birthday A");
monthl = Integer.parselnt(br.readLine());
System.out.println("Day of birthday A");
dayl = Integer.parselnt(br.readLine());
System.out.println("Month of birthday B");
month2 = Integer.parselnt(br.readLine());
System.out.println("Day of birthday B");
day2 = Integer.parselnt(br.readLine());
br.close();

}

catch (Exception e) {
System.out.println(e);

// Alice0D0OOO0D0O0OOOO0ODODOOO
UranaishiAlice ul = new UranaishiAlice();
chemistry = ul.calculateChemistry(monthl, dayl, month2, day2);

System.out.println("By Alice: chemistry= " + chemistry);

// BobO00O0ODO0OO0D0OOOODOO

UranaishiBob u2 = new UranaishiBob();

chemistry = u2.calculateChemistry(monthl, dayl, month2, day2);
System.out.println("By Bob: chemistry= " + chemistry);

Ub00o000o0ooboOobOoobO0bO0o0bAliced BobOOO 2000000000000000O

Month of birthday A

1

Day of birthday A

3

Month of birthday B

4

Day of birthday B

12

By Alice: chemistry= 4
By Bob: chemistry= 99
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